Cnucok YJamuxca 1 BAKAHTHBIX MECT B

MBOY "loOpsiHcKasi OCHOBHasi 0011e00pa3oBaTebHas Koaa Ne 2"
Ha 01.02.2013r.

39/4 xnaccoB (43 kiacca)
KOJHYecTBO yuyammxesi 928/64 (992)

la — 24(1 mecro) 2a—25 3a—27 4a—21/4

16 — 19(6 mecT) 20 —24/1 36-/12 46 — 26

1B — 20(5 mecr) 2B —23/2 38— 25 4B — 25/1

Ir- 25 2r—25 3r—-24 4r - 23(2 mecra)
1o —21(4 mecta) 2n-25 3n—27 41 — 23(2 mecta)
5-109(16 mecT) 5-122/3 5- 103/12 5-118/5(4 mecTa)

1-4=  19/1(20 knaccoB) — 452/19 (471)

S5a—28 6a — 24(1 mecto) 7a—25 8a- 25 Oa - 26

56 -29 66 — 23/1(1 mecto) 76 —25 806 — 24(1mecto) 96 — 23/1(1 mecto)
5B —28 6B — 19/3(3 mecta) 7B -—24/1 88 - 27 9B — 24(1 mecro)
5r— /10(2 mecta)  6r—2/11 Tr—25 8r — 24(1 mecTo) 9r — 16/2(7 mecr)
4 —85/10(2 mecTa) 61— 24/1 7o - /10(2 mecta) 81 —10/5 4 — 88/3(9 mecT)

5-92/16(5mect) 5 —100/11(2mecta)5 — 110/5(2mecra)

5-9= 20/3 (23 kiacea) — 476/45 (521)



